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F(t) F(w) Notes ©0)
f(@t) / ft)e ™t dt Definition. 1)
1 ® 2 iwt z :
o fw)e™ dw fw) Inversion formula. (2)
f(—t) 2rf(w) Duality property. (3)
1
—at v
e~ "u(t) P a constant, fe(a) > 0 (4)
e—altl 2a a constant, Re(a) > 0 (5)
a? + w? ’
1, i <1, . _ ,sin(w) L
B(t) = {O, it 1] > 1 2sinc(w) = 2 ” Boxcar in time. (6)
1 sinc(t) B(w) Boxcar in frequency. (7)
i
f(t) iw fw) Derivative in time. ®)
() (iw)? A(w) Higher derivatives similar. )
tf(t) zdi A(w) Derivative in frequency. (10)
w
2 ~
t2£(t) i2%f(w) Higher derivatives similar.  (11)
w
el (1) Flw — wo) Modulation property. (12)
t—1o —iwto 7 : :
f 3 ke "™ f(kw) Time shift and squeeze. (13)
(f = g)(¢t) gi 1y lA(w)@(w) Convolution in time. (14)
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